




























 





 





 







 

 







 





 



 







 





 





 









 





𝜌 (
𝜕𝐮

𝜕𝑡
+ 𝐮 ∙  ∇𝐮) =  −∇𝑝 + ∇ ∙ (𝜇(∇𝐮 + (∇𝐮)𝑇) −

2

3
𝜇(∇ ∙  𝐮)𝐈 + 𝐅              (Eq. 1) 

𝜌 𝜇 

𝜕𝜌

𝜕𝑡
+ +∇ ∙ (𝜌𝐮) = 0                                                (Eq. 2) 
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n (Eq. 3)

𝜶 𝜆



 

𝐸𝑏𝑖𝑛𝑑𝑖𝑛𝑔 =  𝐸𝑝ℎ𝑜𝑡𝑜𝑛 −  𝐸𝑘𝑖𝑛𝑒𝑡𝑖𝑐 −  Ф𝑠𝑝                                    (Eq. 4)
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𝜌

𝜌

𝜇 𝜇

𝑅𝑒 =
ρ𝒖𝟐

μ𝒖
L

                                                             (Eq. 5)



𝜈 = μ/𝜌 

𝑅𝑒 =
𝒖𝐿

𝜈
                                                                 (Eq. 6)

𝜈 𝜈 = 1.57 ∗

10  𝑚2 𝑠⁄

 𝒖 = 𝑄/𝐴                                                              (Eq. 7)

𝐴 = 𝜋(𝑟)2                                                            (Eq. 8)
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𝑁𝑖𝑂(𝑠) +  𝐻2(𝑔) =  𝑁𝑖(𝑠) +  𝐻2𝑂(𝑔)                                         (Eq. 11)
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                                                   𝜆L(m,n) = 𝑛
𝑊

√𝑚2 + 𝑛2
                                                    (Eq. 12) 
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𝜇

𝜌 𝜇



𝜌 =
𝑅𝐴

𝑙
                                                            (Eq. 13)

𝜇 𝜇

𝜇

𝜇



𝐶‑𝑂 + 𝐻 →  𝐶‑𝑂𝐻                                                  (Eq. 12) 
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𝜶 𝜶 𝜶

𝜶 . 

Finally, as the temperature is 𝜶
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